


CENTRIFUGAL PUMPS 3 series F version
CONTENTS 50 Hz
Rev. G
Page
- SPECIFICATIONS
PUMP SPECIFICATIONS 200
PUMP SPECIFICATIONS 201
SELECTION CHART 202
SELECTION CHART 203
SELECTION CHART 204
PERFORMANCE CURVE 32-125 205
PERFORMANCE CURVE 32-160 206
PERFORMANCE CURVE 32-200 207
PERFORMANCE CURVE 40-125 208
PERFORMANCE CURVE 40-160 209
PERFORMANCE CURVE 40-200 210
PERFORMANCE CURVE 50-125 211
PERFORMANCE CURVE 50-160 212
PERFORMANCE CURVE 50-200 213
PERFORMANCE CURVE 65-125 214
PERFORMANCE CURVE 65-160 215
PERFORMANCE CURVE 65-200 216
PERFORMANCE CURVE 65-250 217
PERFORMANCE CURVE 80-160 218
PERFORMANCE CURVE 80-200 219
PERFORMANCE CURVE 80-250 220
- CONSTRUCTIONS
SECTIONAL VIEW 3SF-3LSF (32,40,50,65-125/160/200) 300
CONSTRUCTIONS 3SF-3LSF (32,40,50,65-125/160/200) 301
SECTIONAL VIEW 3LSF 80-160 302
CONSTRUCTIONS 3LSF 80-160 303
SECTIONAL VIEW 3LSF (65-250, 80-200/250) 304
CONSTRUCTIONS 3LSF (65-250, 80-200/250) 305
SECTIONAL VIEW 3PF-3LPF (32,40,50,65-125/160/200) 306
CONSTRUCTIONS 3PF-3LPF (32,40,50,65-125/160/200) 307
SECTIONAL VIEW 3LPF 80-160 308
CONSTRUCTIONS 3LPF 80-160 309
SECTIONAL VIEW 3LPF (65-250, 80-200/250) 310
CONSTRUCTIONS 3LPF (65-250, 80-200/250) 311
CONSTRUCTIONS: BALL BEARING 312
CONSTRUCTIONS: MECHANICAL SEAL (standard and H version) 313
CONSTRUCTIONS: MECHANICAL SEAL (L version @ 22) 314
CONSTRUCTIONS: MECHANICAL SEAL (L version) 315
CONSTRUCTIONS: MECHANICAL SEAL (HS version @ 22) 316
CONSTRUCTIONS: MECHANICAL SEAL (HS and E version) 317

100

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series F version
CONTENTS 50 Hz
Rev. G
Page
CONSTRUCTIONS: COUPLING 318
CONSTRUCTIONS: COUNTERFLANGE 319
CONSTRUCTIONS: COUNTERFLANGE 320
- DIMENSIONS
DIMENSIONS 3SF-3LSF (32,40,50) 400
DIMENSIONS 3SF-3LSF (32,40,50,65) 401
DIMENSIONS 3LSF (65-250,80) 402
DIMENSIONS 3PF-3LPF (32-40-50-65) 403
DIMENSIONS 3LPF (65-250,80) 404
PACKING AND WEIGHT 3SF-3LSF 405
PACKING AND WEIGHT 3PF-3LPF 406
101

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series F version

P U M P SPECIFICATIONS

50 Hz

Rev. G

Pump sizes

Version

3SF 3PF

3LSF 3LPF

32-125

32-160

32-200

40-125

40-160

40-200

50-125

50-160

50-200

65-125

65-160

65-200

65-250

80-160

80-200

80-250

Type of liquid

Clean water and mode

rately aggressive fluids

/

Clean water, drinking water, water
contains glycol
for E version

Liquid
Handled

Temperature

min.

max.

[°C]

-10

-10
-20 for E version

+90
110 for (H-HS version)

+110
+120 for E version

Maximum working pressure

[MPa]

W Available also with H and HS option for 32, 40, 50, 65-125/160/200.

® Available also with H and E option for 65-250, 80.

— Not available.

200

= Eaara

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series F version

P U M P SPECIFICATIONS 50 Hz

Rev. G

Version 3SF | 3PF | 3LSF | 3LPF
Closed centrifugal type for [32, 40, 50 version]
Impeller Reinforced laser welding for [40-200/11, 50-200/15]
Closed centrifugal three dimensional blades for [65 and 80 version]
Construction Mechanical seal with stationary
Shaft seal type Mechanical seal ring secured against rotation.
Mechanical seal for [H-E option]
Bearing Sealed ball bearing
32-125/160/200 Flange DN50 according DIN 2532 standard
40-125/160/200 Flange DN65 according DIN 2532 standard
Suction 50-125/160/200 Flange DN65 according DIN 2532 standard
65-125/160/200/250 Flange DN80 according DIN 2532 standard
Pipe 80-160/200/250 Flange DN100 according DIN 2532 standard
Connection 32-125/160/200 Flange DN32 according DIN 2532 standard
40-125/160/200 Flange DN40 according DIN 2532 standard
Discharge 50-125/160/200 Flange DN50 according DIN 2532 standard
65-125/160/200/250 Flange DN65 according DIN 2532 standard
80-160/200/250 Flange DN80 according DIN 2532 standard
32-125/160/200
40-125/160/200 EN 1.4404
Casing 50-125/160/200 EN 1.4301 (AISI 304) (AISI 316L)
65-125/160/200
65-250 / EN 1.4401 (AISI 316)
80-160/200/250 Made by precision casting
82-125/160/200 EN 1.4301 EN 1.4404
40-125/160/200 (AISI 304) (AISI 316L)
50-125/160/200
Impeller 65-125/160/200 EN 1.4401 (/\.ISI 316}
Made by precision casting
65-250 / EN 1.4401 (AISI 316)
80-160/200/250 Made by precision casting
32-125/160/200
40-125/160/200 EN 1.4404
Casing cover 50-125/160/200 EN 1.4301 (AISI 304) (AISI 316L)
65-125/160/200
65-250 / EN 1.4401 (AISI 316)
80-160/200/250 Made by precision casting
Ceramic/Carbon/NBR
32-125/160/200 [standard version]
40-125/160/200 Ceramic/Carbon/FPM SiC/SiC/IFPM
50-125/160/200 [H option] [L version]
) 65-125/160/200 SiC/SiC/IFPM
Material .
Mechanical seal [HS option]
SiC/SiC/IFPM
[L version]
65-250 / Ceramic/Carbon/FPM
80-160/200/250 [H option]
SiC/Carbon/EPDM
[E option]
. NBR
O-ring FPM for [H-HS option] FPM
32, 40, 50
65-125 d=19
65-160/11 EN 1.4404
50-200/15 |d=22 EN 1.4301 (AIS1 304) (AISI 316L)
65-160/15
65-200 d=24
EN 1.4462
Shatt 65-250 d=24 ! (Duplex stainless steel)
80-160 d=24 / EN 1.4404 (AISI 316L)
80-200/22 |d=24 / EN 1.4404 (AISI 316L)
80-200 d=24 / EN 1.4462
30-37kW (Duplex stainless steel)
EN 1.4462
80-250 d=29 ! (Duplex stainless steel)
Bracket Cast iron - aluminium

201

E2ARA

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series F version

SELECTION CHART 50 Hz

Rev. G

TYPE KEY

3 SF H 40 [-1200|/] N

5.5
11
Impeller code for 3(.)SF 30
Impeller code for 3(.)PF R
L
125
IMPELLER CODE 160
200
250
32
DISCHARGE SIZE 40
50
65
80
H
MATERIAL OPTION
HS
E
MODEL SERIES (AISI 304 VERSION) SF
MODEL SERIES (AISI 316 VERSION) LSF
MODEL SERIES (AISI 304 VERSION) PF
MODEL SERIES (AISI 316 VERSION) LPF
3 SERIES
*) No indication
202

% E2ARA EBARA PUMPS EUROPE S.p.A.



3 series F version

CENTRIFUGAL PUMPS

SELECTION CHART

50 Hz

Rev. G
3 SERIES SF and PF VERSION: 32, 40, 50
Pump type )
KW | HP [I/min 0 100| 150/ 200 300/ 333| 360| 400/ 450/ 500/ 600/ 700/ 800| 1000| 1200
3()SF 3()PF m¥h 0 6 9 12 18 20 22 24| 27 30 36| 42 48 60 72
32-125/1.1 32-125 1.1 1.5 225 21 19.9 18.4 14.1 12 - - - - - - - - -
32-160/1.5 | 32-160/R 15| 2 205 28 | 265 | 245 | 192 | 17 - - - - - - - - -
32-160/2.2 32-160 2.2 3 37| 355 34 32 27 25 - - - - - - - - -
32-200/3 32-200/R 3 4 44| 42 40 | 375 | 31 28 - - - - - - - - -
32-200/4 32-200 4 5.5 55| 535 52 49.5 43.5 40.5 38 - - - - - - - -
32-200/5.5 32-200/L 55 7.5 705 69 67.5 65 58.5 - - - - - - - - - -
32-200/7.5 75 | 10 70.5| 69 67.5 65 58.5 | 555 53 49 44 - - - - - -
40-125/1.5 40-125/R 15 2 20 - - 19 17.6 17 16.5 15.7 145 13.2 10.3 7 - - -
40-125/2.2 40-125 2.2 3 26.5 - - 255 24 235 23 22 21 195 16.4 13 - - -
40-160/3 40-160/R 3 4 31 - - 29.5 275 27 26.5 25.5 24 225 20 17 - - -
40-160/4 40-160 4 55 40 - - 38.5 37 36 35.5 34.5 33 32 29 255 - - -
40-200/5.5 40-200/R 5.5 7.5 47 - - 45.5 44 43 42.5 41 39.5 38 35 31 - - -
40-200/7.5 40-200 7.5 10 58 - - 57 55.5 55 54.5 53.5 52.5 51 47.5 44 - - -
40-200/11 [ 40-200/L 11 | 15 e - 71 70 70 | 695 | 685 | 675 | 66 63 59 - - -
50-125/2.2 50-125/S 2.2 3 19 - - - - - - 175 17 16.3 14.9 134 11.7 8 -
50-125/3 50-125/R 3 4 22 - - - - - - 20.5 20 19.6 18.4 17 15.4 11.8 8
50-125/4 50-125 4 5.5 26.5 - - - - - - 26 25.5 25 24 22.5 21.5 17.9 14
50-160/5.5 50-160/R 55 7.5 33 - - - - - - 31 30.5 30 28.5 27 255 22 18
50-160/7.5 | 50-160 75| 10 40 - - - - - - 385 | 38 | 375 | 36 35 | 335 | 30 26
50-200/9.2 50-200/R 9.2 | 125 53 - - - - - - - - 50 49 47.5 455 40.5 34
50-200/11 50-200 11 15 59 - - - - - - - - 56 55 54 52 48 42
50-200/15 [ 50-200/L 15 | 20 72| - - - - - - - - 70 69 68 66 62 57
3 SERIES SF and PF VERSION: 65, 80
Pump type )
kW | HP [ ymin 0| 600| 700/ 900/ 1300 1500| 1700| 1900| 2100| 2200| 2300| 2400| 2500| 3000 3400| 3600 3800/ 4000
3()SF 3()PF m¥h 0| 36| 42| 54| 78| 90| 102| 114| 126| 132| 138 144| 150| 180| 204| 216| 228 240
65-125/4 65-125/R 4 |55 222/ 198 | 19 |173[ 133 | 11 | 86 | 6.3 - - - - - - - - - -
65-125/55 | 65-125 55| 75 27| - 24 | 222| 18 | 157133 ] 108 | 8 - - - - - - - - -
65-125/7.5 | 65-125/L 75| 10 32| - [ 295|278 235][ 211187 161|134 12 - - - - - - - -
65-160/7.5 | 65-160/S 75| 10 32| - 30 | 286|248 | 225[ 199|171 | 142 - - - - - - - - -
65-160/9.2 | 65-160/R 9.2 [ 125 365/ - [ 345)| 328|288 265239211183 168 - - - - - - - -
65-160/11 65-160 11 | 15 405/ - [385)|371[331]309]|284|258] 23 |215| 20 - - - - - - -
65-160/15 65-160/L 15 | 20 48| - | 455| 44 | 40 | 378353 (326|296 | 28 [ 265 - - - - - - -
65-200/15 65-200/R 15 | 20 535 - 51 | 49 | 44 | 415|384 [ 353|318 30 - - - - - - - -
65-200/18.5 | 65-200 185| 25 605 - |585|565[515]| 49 | 46 | 43 | 397 | 38 | 363 | - - - - - - -
65-200/22 65-200/L 22 | 30 67| - [655] 64 |595| 57 | 54 | 51 | 48 [ 465 | 45 - - - - - - -
65-250/30 65-250 30 | 40 78| - - 77 | 735| 71 | 68 | 645| 60 |575| 55 | 52 - - - - - -
65-250/37 65-250/L 37 | 50 89| - - 88 | 855 | 83 |805|775| 74 | 72 | 70 | 675 | 65 - - - - -
80-160/11 80-160/S 11 | 15 29| - - - | 273|264 | 254 | 242 | 23 | 224|218 211|204 | 164 | 125 | - - -
80-160/15R | 80-160/R 15 | 20 32| - - - | 305|297 | 288|277 | 265 | 259 | 253 | 24.6 | 24 | 20.1 | 165 | 145 | - -
80-160/15 80-160 15 | 20 35 - - - 34 | 333|325|315|305| 30 |294|288| 281|244 | 21 | 191 17 -
80-160/18.5 | 80-160/L 185| 25 40| - - - 39 | 384 | 376|367 | 357|352 | 347|341 |335| 30 | 264 | 244 | 223 | 20
80-200/22 80-200/R 22 | 30 50| - - - 48 | 47 | 455|445 | 43 | 42 | 41 | 40 | 39 | 332 |278| 25 - -
80-200/30 80-200 30 | 40 60| - - - | 585| 58 | 57 | 56 | 545| 54 | 53 | 52 | 51 | 465 |415| 39 | 361 | 33
80-200/37 80-200/L 37 | 50 66| - - - 64 | 63 | 62 | 61 | 595| 59 | 58 | 57.5| 56.5 | 51.5 | 47 | 445 | 415 | 385
80-250/37 80-250/R 37 | 50 73 - - - | 715|705 | 685 | 665 | 64 | 63 | 615 | 60 | 585 | 485 | 38 - - -
80-250/45 80-250 45 | 60 84| - - - | 825|815| 8 | 78 | 76 | 75 | 735|725| 71 | 62 | 53 | 48 | 425 | -
80-250/55 80-250/L 55 | 75 95| - - - | 935|925 | 915 90 | 885 | 875|865 | 855 | 84 | 765 | 685 | 645 | 60 | 55

203

E2ARA

EBARA PUMPS EUROPE S.p.A.




]
CENTRIFUGAL PUMPS 3 series F version

SELECTION CHART 50 Hz

Rev. G

U.S.g.p.m. 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600 700 1000

T
Imp.g.p.m. 40 50 B0 70 80 90100 120 140 160180200 250 300 350 400 500 600 700 1000

120
— 350
100
L. — 300
80 %5 250/57 S % 250
H 55\25(73-;»._ NN > H
[m] = =~ —~uny N NYZ, [ft]
60 52-200/55 T #0~20057 907 [ N ~ 200
L N I <%1s G5 2% \
o Dnar ST ime SR 2 L 25 A
32-200/4.0 ] T N0 N > 5\200/,8 N TN L 150
ST ¢ 0,8 75
| e TR BN e GG LN
40 T s=sEEmie=r N0 & Q
2-200/55 RN S B (EMOSSER RS SIAN
B ] : | \5: ii=‘¢77}\\\l% " ;:i/‘
30 -160/23 O N N TN 100
SR EEEEE 78 T 7S NN 5 N T AN T
P — | N 0 i\/{f HN,, L *6’0/
32-160/ i NG 7 ’3’%‘\ / @\@J
" N F N 6:5\, ga APAN 75
- . e DN N2\
20 ] 6’0/ \‘6’0/1 \/20\ \C‘,/{’\\
32~ 2N20 NS NN 2\
125/11 T N 0\/(« A NN NV o\
S ) 2z o
NN 2NN 2\0N\
15 T(EEANEEEA IO e A -0
s 7;.‘ NEEAY [ “{}\ i 2\
A | | & | el 40
% N %
XLANEVILEX
10 o SN 2 A
9 = A — 30
: \ \ ]
25
7
6 / / f — 20
; [ / J
100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000 2500 3000 4000 5000
Q [I/min]
[ T T T I T T I T T T T I T T | 1
6 7 8 910 12 14 161820 25 30 40 50 60 70 100 150 200 300
Q [m /h]

PERFORMANCE CURVES

The specifications below qualify the curves shown on the following pages.
¢ Tolerances according to ISO 9906 Annex A
¢ The curves refer to effective speed of asynchronous motors at 50 Hz
¢ Measurements were carried out with clean water at 20°C of temperature and with a kinematic viscosity
of v=1mm?s (1 cSt)
¢ The NPSH curve is an average curve obtained in the same conditions of performance curves.
During the pump selection, consider to get a safety margin of at least 1 m.
¢ The continuos curves indicate the recommended working range. The dotted curve is only a guide.
¢ In order to avoid the risk of over-heating, the pumps should not be used at a flow rate below 10%
of best efficiency point.
¢ Symbols explanation:
Q = volume flow rate
H = total head
P, = pump power input (shaft power)
n = pump efficiency
NPSH = net positive suction head required by the pump

204

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series F version

PERFORMANCE CURVE 50 Hz

Rev. G

3(.)SF 32-125/1.1 and 3(.)PF 32-125  (1.1kW) — impeller diameter = 133 mm

0 US.gpm. 20 30 40 50 60 70 80 0 100
| | | | | | | | | | |
| [ [ [ [ [ [ [ [
” 0 Imp.g.p.m. 20 30 40 50 60 70 80
- 80
H = H
4 70
[m] 0 ~—_ [ft]
7
~ - 60
™~
S
15 \;\ L 50
™N
N
Ny - 40
10
NPSH 30
[m] [#t]
612020
5 5
15
p— 4
NPSH = 1 3o
2
5
0 0
0 50 100 150 200 250 300 350 Q [I/min]
[ [ [ [ [ [ [ [ [ [ [ [ |
0 2 4 6 8 10 12 14 16 18 20 22 Q [mS/h]
1.6
P -
(kw] ™ 125,/1.1
0.8 =T
0.4
0 50 100 150 200 250 300 350 Q [1/min]
70 1]
n - — T T T T
60 = ==-125/1.1
[%] 4// /
1
50 -
P
40
30
0 50 100 150 200 250 300 350 Q [I/min]
Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A
205

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series F version

PERFORMANCE CURVE 50 Hz

Rev. G

3(.)SF 32-160/1.5 and 3(.)PF 32-160/R (1.5kW) — impeller diameter = 151 mm
3(.)SF 32-160/2.2 and 3(.)PF 32-160 (2.2kW) — impeller diameter = 166 mm

0 USgpm. 20 30 40 50 60 70 80 90 100
| | | | | | | | | | |
| I I I I | I | I
0 Imp.gpm. 20 30 40 50 60 70 80
40 130
H T =120 H
[m] 35 e — [#t]
T T~_760 110
\/3«2
TN
04— 100
o -
~ N - 90
~ p N
~./60
25 ~<7.5 ' g0
NP |
N
2 - [m] [
N 560
N 4
15 5 150
NPSH s
—T - 40
-5
10
0 50 100 150 200 250 300 350 Q [1/min]
[ I I I I I I I I I I I ]
0 2 4 6 8 10 12 14 16 18 20 22 Q[m3h]
24 160,/2.2
P2 2.0 " —r | ‘ | “
[kw] —_— ]
1.6 = 160/1.5
p—
1.2 — =
0.8
0 50 100 150 200 250 300 350 Q [1/min]
70
, 1T
- ~160,/2.2
[%] 60 P =160/1.5
50 —
40
0 50 100 150 200 250 300 350 Q [1/min]

Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A

206

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series F version

PERFORMANCE CURVE 50 Hz
Rev. G
3(.)SF 32-200/3 and 3(.)PF 32-200/R (3.0kW) — impeller diameter = 186 mm
3(.)SF 32-200/4 and 3(.)PF 32-200 (4.0kW) — impeller diameter = 200 mm
3(.)SF 32-200/5.5 and 3(.)PF 32-200/L (5.5kW) — impeller diameter = 224 mm
3(.)SF 32-200/7.5 and 3(.)PF 32-200/L (7.5kW) — impeller diameter = 224 mm
0 USgpm. 20 30 40 50 60 70 80 90 100 10 120 130
| | | | | | | | | | | | | |
0 Imp.g.p.lm. 2 30 4 50 60 70 80 % 100 o
80 - 260
H 240 H
[m] 707 S [ft]
< - 220
[ L 2
60 Bh 00/5.5 - 200
‘\\
g e e e 180
50 ST 200 N0 160
\/{0 0/7
N 5
T T N NPSH 140
40 T ™ [m] [ft]
™~ 2‘02/\;0 8 [120
™~ P €
“ Pad T2 100
N 15
= 4
N ——— e ™
21 5
20
0 50 100 150 200 250 300 350 400 450  Q [I/min]
[ I I T T I I I I I T T T T 1
0 2 4 6 8 10 12 14 16 18 20 2 24 2 28 Q[m3h]
8
[TTT] HEE
P2 00/5.5
w8 X /35 200/7.5
4 T 200/4.0
_ 200/3.0 |
2 L 1 L L L
0 50 100 150 200 250 300 350 400 450  Q [I/min]
n6° EEEEN [11200/4.0 H/H
50 %f = = =~1200/7.5
(%] /5%— 200/55 200/3.0
40 -
P
30 -
20
0 50 100 150 200 250 300 350 400 450  Q [I/min]
Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A
207

= Eaara

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series F version

PERFORMANCE CURVE 50 Hz

Rev. G

3(.)SF 40-125/1.5 and 3(.)PF 40-125/R (1.5kW) — impeller diameter = 125 mm
3(.)SF 40-125/2.2 and 3(.)PF 40-125 (2.2kW) — impeller diameter = 140 mm

0 US.gpm. 40 60 80 100 120 140 160 180 200
| | | | | | | | | | |
| T T T T 1 T | T
© 0 Imp.g.p.m. 40 60 80 100 120 140 160
90
H 11 H
[m] 25 s S g [
25 25
70
20 ==
—— N 60
.~
~/7.5 SN
15 S~ - 50
\\‘ \‘
SN
— 40
N
0 L NPSH
3 [m] [ft]}- 30
™ %
7
2020
5 5 15
g
NPSH - — 311010
s
0 0
0 100 200 300 400 500 600 700 Q [I/min]
| T T T T T l T T T |
0 12 16 20 24 28 32 36 40 44 Q[m3n]
3
o) 1]
125/2.2 1|
(W 2 T 25/2.
1 - 125/1.57]
0
0 100 200 300 400 500 600 700 Q [I/min]
80
n — I~
] ™~
(7] 70 = ~ ~125/2.277]
/
. 5 11
125/1.5 | |
o |||
0 100 200 300 400 500 600 700 Q [I/min]
Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A
208

= Eaara

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series F version

PERFORMANCE CURVE 50 Hz

Rev. G

3(.)SF 40-160/3 and 3(.)PF 40-160/R (3.0kW).— impeller diameter = 151 mm
3(.)SF 40-160/4 and 3(.)PF 40-160 (4.0kW).— impeller diameter = 166 mm

0 US.gp.m. 40 60 80 100 120 140 160 180 200
I ] I ] I ] I ] I ] I ] I ] I ] I ]
45 0 mPgpm. 40 60 80 100 120 140 160
140
H H
(m] = 130 [ft]
ST 120
p -
35 50/4 0
110
N
30 e P ™~ —100
~~ ™S 90
NG00
25 \‘\/\{0
~\\§ I~ 80
S
- NPSH [~70
2 ~ [m] [ft]
- 60
N ;2
2
15 5 1520
NPSH ——
sl L.
s
10
0 100 200 300 400 500 600 700 Q [1/min]
[ I I I I I I I I I I I 1
0 4 8 12 16 20 2 28 3 36 40 4 Q[m3m]
S [T
P2 4 160,/4.0 1
[kW] —— I I I
3 —— i 160/3.0T]
2 - —
1
0 100 200 300 400 500 600 700 Q [1/min]
80
, T
o —1160/4.0
[%] 70 = 160/3.0
60 7/
s
50
0 100 200 300 400 500 600 700 Q [1/min]

Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A

209

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series F version

PERFORMANCE CURVE 50 Hz

Rev. G

3(.)SF 40-200/5.5 and 3(.)PF 40-200/R (5.5kW) — impeller diameter = 183 mm
3(.)SF 40-200/7.5 and 3(.)PF 40-200 (7.5kW) — impeller diameter = 200 mm
3(.)SF 40-200/11 and 3(.)PF 40-200/L (11kW) — impeller diameter = 224 mm

0 US.gpm. 40 60 80 100 120 140 160 180 200
| | | | | | | | | | |
[ [ [ [ [ [ [ [ [
0 Imp.gpm. 40 60 80 100 120 140 160
80
250
H T H
m] 70 -200/11 230 [ft]
—
T
o 210
60 S
S 190
~_ 200 75
5.
5 g 170
T~
—_— o
- N 150
~200/5 5
06
40 = NPSH |-130
~ [m] [ft]
L w10
~~
30 54 15 N
NPSH | [ || _— s
5
1 70
20
0 100 200 300 400 500 600 700 Q [1/min]
[ [ [ [ [ [ [ [ [ [ [ [ 1
0 4 8 12 16 20 24 28 3 36 40 44 Q[m3h]
12 T
Py 10 200,11
kW] 8 — = [
L] ) L 200/7.5
T 200/5.5"
4 Ll
9 .
0 100 200 300 400 500 600 700 Q [1/min]
80 T T T
T = 200/7.5 ]
p—
7 e a—
| jp!
50 200/5.51 -~
40 200/11
30 L1
0 100 200 300 400 500 600 700 Q [I/min]

Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A

210

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series F version

PERFORMANCE CURVE 50 Hz

Rev. G

3(.)SF 50-125/2.2 and 3(.)PF 50-125/S (2.2kW) — impeller diameter = 126 mm
3(.)SF 50-125/3 and 3(.)PF 50-125/R (3.0kW) — impeller diameter = 131 mm
3(.)SF 50-125/4 and 3(.)PF 50-125 (4.0kW) — impeller diameter = 140 mm

0 US.gpm. 50 100 150 200 250 300 350
| | | | | | | |
| [ | I | [ |
© 0 Impgpm. 50 100 150 200 250 300
H | H
[m] 25 S~ [ft]
\725 2 - 80
NGO
20 i \\‘\
——= 7 2 5 N
£ 60
~ \‘\/]3\0
™S o N
<2 N
N N —40
N N
10
NPSH
[m] [ft]
62020
° NPSH ~ gy
L 4
T a
il
0 0
0 200 400 600 800 1000 1200 Q [I/min]
[ I I I I I I I I
0 10 20 30 40 50 60 70 Q [m3/h]
6
]
P 2 I I
— 125/3.0
2 125/2.2
) [ ]
0 200 400 600 800 1000 1200 Q [I/min]
80
" %9 ~T~ | | ] 125/40
T~y .~ T
T~ T T
125/2.2 N 125/3.01
0 200 400 600 800 1000 1200 Q [I/min]

Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A

211

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series F version

PERFORMANCE CURVE 50 Hz

Rev. G

3(.)SF 50-160/5.5 and 3(.)PF 50-160/R (5.5kW) — impeller diameter = 154 mm
3(.)SF 50-160/7.5 and 3(.)PF 50-160  (7.5kW) — impeller diameter = 166 mm

0 USgpm. 50 100 150 200 250 300 350
| | | | | | | |
| [ [ [ [ [ [
5 0 Imp.gpm. 50 100 150 200 250 300
—160
H H
[m] | 140 [ft]
40 ==
T~ 16 L
— \0/2 5 120
—— | _ \\‘
30 N~ s ~ 100
B 0/5 5
\\\
NS
\\ NPSH [~80
[m] [ft]
20 10
) B oo
62
NPSH ] 4
— 10
2 40
10
0 200 400 600 800 1000 1200 Q [I/min]
[ [ [ [ [ [ [ [ [
0 10 20 30 40 50 60 70 Q [m3/h]
8 —
— —
[kw] - — 160,/5.5
- f—
4 —
2
0 200 400 600 800 1000 1200 Q [I/min]
80
: T 1]
———— 160/7.5
[%] 70 — 4]
== 160/5.5 | |
~=d
60 =
50
0 200 400 600 800 1000 1200 Q [I/min]

Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A

212

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series F version

PERFORMANCE CURVE 50 Hz

Rev. G

3(.)SF 50-200/9.2 and 3(.)PF 50-200/R (9.2kW) — impeller diameter = 191 mm
3(.)SF 50-200/11 and 3(.)PF 50-200  (11kW) — impeller diameter = 200 mm
3(.)SF 50-200/15 and 3(.)PF 50-200/L (15kW) — impeller diameter = 224 mm

0 USgpm. 50 100 150 200 250 300 350
| | | | | | | |
[ [ [ [ [ [ [
0 Impgpm. 50 100 150 200 250 300
80 - 260
H 240 H
Tl 20, ft
(m] 70 ——<00/15 (ft]
220
[ —
T~
60 +—1— ~ 200
T T+ 2 ~
~—— <007, - 180
I — _ \ j‘\
i | 2
50 ~-<00/9 » L 160
‘\\ N
‘\\ \\
i NPSH [-140
40 \\\‘ [m] [#t]
4 120
815
6|
30 — P
NPSH — L
20
0 200 400 600 800 1000 1200 Q [1/min]
[ [ [ [ [ [ [ [ [
0 10 20 30 40 50 60 70 Q [m3/h]
18 —
200/15 +—
P2 ,’—— | /‘
(kW] | 1
12 — 200/11
——— 200/9.27 |
6 = e |
0 200 400 600 800 1000 1200 Q [1/min]
80 |
n ——
% T—
[%] 70 /4 -
200/9.2 ///, —
60 2|OO/11 =
200/15
50 —
0 200 400 600 800 1000 1200 Q [1/min]

Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A

213

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series F version

PERFORMANCE CURVE 50 Hz

Rev. G

3(.)SF 65-125/4 and 3(.)PF 65-125/R (4.0kW) — impeller diameter = 128 mm
3(.)SF 65-125/5.5 and 3(.)PF 65-125  (5.5kW) — impeller diameter = 138 mm
3(.)SF 65-125/7.5 and 3(.)PF 65-125/L (7.5kW) — impeller diameter = 149 mm

0 US.gpm. 100 200 300 400 500 600 700
| | | | | | | |
| | I I I | I
4o 0 mp-gpm. 100 200 300 400 500 600
—120
H H
[m] [ft]
30 T~ 100
N
——_ | — 7
"~ S 80
N 75
] ~ N
20 = 7
- \\25/5 5 NG 60
\\ ! “[\
I A NG
‘5/4.0 SN N P |
[m] [ft]
10 N NG
Y 30
~ 8
620 20
NPSH g .
10
2
0 0
0 400 800 1200 1600 2000 2400 Q [I/min]
[ I I I I I | I I
0 20 40 60 80 100 120 140 Q [m3/h]
8 L
P2 — 125/7.5
6 L 1
[kW] — Tl
) —— 125/5.5
qu—— — T
| 125/4.0
2 i L L
0 400 800 1200 1600 2000 2400 Q [I/min]
80
n T~
(%] 70 . ~
\\
N, N N
60 NS 125 |/7‘5
125/4.0 N0 TN 125/5.5
50 —— I
0 400 800 1200 1600 2000 2400 Q [I/min]

Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A

214

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series F version

PERFORMANCE CURVE 50 Hz

Rev. G

3(.)SF 65-160/7.5 and 3(.)PF 65-160/S (7.5kW) — impeller diameter = 153 mm
3(.)SF 65-160/9.2 and 3(.)PF 65-160/R (9.2kW) — impeller diameter = 161 mm
3(.)SF 65-160/11 and 3(.)PF 65-160 (11kW) — impeller diameter = 168 mm
3(.)SF 65-160/15 and 3(.)PF 65-160/L (15kW) — impeller diameter = 178 mm

0 U.S.g.p.m. 100 200 300 400 500 600 700
| | | | | | | |
[ [ [ [ [ [ [
" 0 Imp.gpm. 100 200 300 400 500 600
L 160
H H
[m] ~ 76y 7140 )
H-=—= - 75
N
L i - . - 120
T T 76, N 100
. Y 0/‘92 \\
\ 5 \ —80
\\\ NN \‘
20 S
N NpsH | &0
NS Y
[m] [ft]
—— 620 |-40
10 - — — 5 15
NPSH — 4
— 310 |20
2
IS
0 0
0 400 800 1200 1600 2000 2400 Q [1/min]
[ [ [ [ [ [ [ [ [
0 20 40 60 80 100 120 140 Q [m3/h]
16 T T
Py __ 160/15
m——1 .
k] 12 — 160/11
—— 160/7.5
4 = .
0 400 800 1200 1600 2000 2400 Q [1/min]
90
n
%] 80 —
. ——
S~ [160/15
70 ‘
N~ |~ 160/11
NS 160/9.0—
5 160/7.5 177 |
[
0 400 800 1200 1600 2000 2400 Q [1/min]

Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A

215

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series F version

PERFORMANCE CURVE 50 Hz
Rev. G
3(.)SF 65-200/15 and 3(.)PF 65-200/R (15kW) — impeller diameter = 190 mm
3(.)SF 65-200/18.5 and 3(.)PF 65-200 (18.5kW) — impeller diameter = 201 mm
3(.)SF 65-200/22 and 3(.)PF 65-200/L (22kW) —impeller diameter = 212 mm
0 US.gp.m. 100 200 300 400 500 600 700
| | | | | | | |
| | I I I | I
0 0 Imp.gpm. 100 200 300 400 500 600
g N 220
H H
[m] a oo Lft]
60 = e = | \\20%2 200
‘\\ N
Il N P h —180
T N 00/7(9 S
50 ~ ) N
N 160
™
~ N - 140
40 ™
\\ 120
\\ NPSH
N [m] [#]
30 100
P
NPSH 620
510
20
0 400 800 1200 1600 2000 2400 Q [I/min]
[ I I I I | | I I
0 20 40 60 80 100 120 140 Q [m3/h]
24
B, —— 200/22
[kw] — e 200/18.5
16 _— —]
— L 200/15
8 — | |
0 400 800 1200 1600 2000 2400 Q [I/min]
90
n
[%] 80 — 200/22
T~ 200/18.5
70 200/15
60
0 400 800 1200 1600 2000 2400 Q [I/min]
Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A
216

= Eaara

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series F version

PERFORMANCE CURVE 50 Hz
Rev. G
3LSF 65-250/30 and 3LPF 65-250 (30kW) — impeller diameter = 235 mm
3LSF 65-250/37 and 3LPF 65-250/L (37kW) — impeller diameter = 250 mm
0 US.gp.m. 100 200 300 400 500 600 700
| ] ] ] ] ] | ]
| 1 1 1 1 1 1
100 0 Imp.gpm. 100 200 300 400 500 600
H —300 H
[m] R e 2 [ft]
~
80 —~—
T T T T T T T T T T 1T+H—_ \250/30 \\\ ~ 250
\\\ \
\\\
N
60 200
NPSH
[m] [ft]
10 150
30
40 81
NPSH = 6
— 15
41100
— | =10
215
20
0 400 800 1200 1600 2000 2400 Q [I/min]
[ I I I I I I I I
0 20 40 60 80 100 120 140 Q [m3/h]
40 —
P2 - =1-250/37
pm— |
[kw] — _——— 250/30 T
[ —] L —
20 —
10
0 400 800 1200 1600 2000 2400 Q [I/min]
80
" | — -
—
(%] 70 / ™~ 250,/37 _|
= 250/30
77
60
50
0 400 800 1200 1600 2000 2400 Q [I/min]
Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A
217

= Eaara

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series F version

PERFORMANCE CURVE 50 Hz
Rev. G
3LSF 80-160/11 and 3LPF 80-160/S (11kW) —impeller diameter = 154 mm
3LSF 80-160/15R and 3LPF 80-160/R (15kW) —impeller diameter = 160 mm
3LSF 80-160/15 and 3LPF 80-160 (15kW) —impeller diameter = 165 mm
3LSF 80-160/18.5 and 3LPF 80-160/L (18.5kW) — impeller diameter = 174 mm
0 USgpm. 200 400 600 800 1000 1200
| ] ] ] ] ] |
(I) Imp.g.p.m. 2(I)0 4(I)0 6(IJO 8(IJO 10I00
% 160
H
[m] 140 ()
40 o
7 120
S ~%55,
'—\
—1 SR
e e e - 76‘0/75 —100
S L N
N 6\0/75/? N \\ -80
~1 N
20 < <
\ NG 60
N
N NPSH
[m] [ft]L 49
10 10
NPSH g ¥
‘ — —] 64220
4
, 10
0 0
0 1000 2000 3000 4000 Q [I/min]
(IJ 5‘0 1(‘)0 15‘0 2(‘)0 2:!>0 Q [rr: 3/n]
20
. — 160/18.5
2 [ |
[kw) ' — 160/15
o e 160,/15R
- |t .
= 160,/11
8 L L
0 1000 2000 3000 4000 Q [I/min]
90 |
n \
\\ —
[%] & N L 160/15
70 ~ \\\ 16(‘)/18 5
1§0/11\ 160/15R "
60 ‘ —
0 1000 2000 3000 4000 Q M1/min]
Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A
218

= Eaara

EBARA PUMPS EUROPE S.p.A.



3 series F version

CENTRIFUGAL PUMPS

PERFORMANCE CURVE 50 Hz
Rev. G
3LSF 80-200/22 and 3LPF 80-200/R (22kW) — impeller diameter = 196 mm
3LSF 80-200/30 and 3LPF 80-200  (30kW) — impeller diameter = 211 mm
3LSF 80-200/37 and 3LPF 80-200/L (37kW) — impeller diameter = 219 mm
0 USgpm. 200 400 600 800 1000 1200
| ] ] ] ] ] |
80 (I) Imp.g.p.m. 2(IJO 4(I)O 6(IJO 8(I)O 10|00
250
H H
[m] L [ft]
T
— - 200
60 e — | 200,55
200
—— \ .~
~— , \\\i\ \ 5o
SN0
40 %25 SN
\\ \\\
N\ 100
N NPSH
[m] [ft]
20 8 5
— 612050
NPSH - b
I - 10
25
0 0
0 1000 2000 3000 4000 'Q [1/min]
(I) 5'0 1(')0 15'0 2(')0 2%0 Q [nr:3/h]
40 —
Py — 200/37
[kw] %° — 200/30
20 —_—T 200/22
I |
10 |
0 1000 2000 3000 4000 Q [I/min]
90
n
[%] 80
= N | 200/37
N \ | I
74 N 200/30
s 200/22 R
60 | | | ‘ ‘
0 1000 2000 3000 4000 Q [I/min]
Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A
219

= Eaara

EBARA PUMPS EUROPE S.p.A.



3 series F version

CENTRIFUGAL PUMPS

PERFORMANCE CURVE 50 Hz
Rev. G
3LSF 80-250/37 and 3LPF 80-250/R (37kW) — impeller diameter = 230 mm
3LSF 80-250/45 and 3LPF 80-250  (45kW) — impeller diameter = 245 mm
3LSF 80-250/55 and 3LPF 80-250/L (55kW) — impeller diameter = 259 mm
0 USgpm. 200 400 600 800 1000 1200
| | | | | | |
| I I I I [
0 Imp.g.p.m. 200 400 600 800 1000
100
' el ‘*\\\‘ 25 - 300
m = & ()
80 -*\“\
<50 | N - 250
I s e e = N % AN
~— \\
25,
60 ™ 5%) \\\ - 200
< \\
\\ \\
\\ \\1 —150
40 \\1
NPSH [~ 100
[m] [ft]
20 8115
NPSH ?—é/ 6—20|-50
— 415
= 10
275
0 0
0 1000 2000 3000 4000 Q [I/min]
0 50 100 150 200 250 Q [nr: 3/h]
Py 250,/55
[kw] L — 250/45
I —
30 e 250/37
0 1000 2000 3000 4000 Q [I/min]
80
n "~ — -
[%] 70 7 /‘/ N \\\\\
5'/ SN 250/55
60 \\ \\ T
250/37 — 250/45
50 | | | | I |
0 1000 2000 3000 4000 Q [I/min]
Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A
220

= Eaara

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series F version
CONSTRUCTIONS 3()SF 32, 40, 50, 65 5ok

Rev. G

300

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series F version

CONSTRUCTIONS 3()SF 32, 40, 50, 65

50 Hz

Rev. G
N° PART NAME MATERIAL DIMENSIONS STANDARD N. FOR
1 UNIT
3SF 3LSF
001 |Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
003 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
003A |Adapter ring [1] Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
006 |Coupling - Part in contact with liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) See table p. 318 1
007 |impeller 32,40,50 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
65-125/160/200 EN 1.4401 (AISI 316)
Carbon/Ceramic/NBR
011 |Mechanical seal Carbon/Ceramic/FPM (H option) SiC/SiC/FPM See p. 313-317 1
SiC/SiC/FPM (HS option)
025 |Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8" L=8 DIN 906 1
32-125, 40-125 158.11x5.34 OR 6625
82-160, 40-160, 183.52x5.34 OR 6720
026 |"O"ring 50-125, 65-125 NBR FPM 1
32-200, 40-200, FPM (version H and HS)
50-160, 50-200, 227.96x5.34 OR 6895
65-160, 65-200
032 |Key Uptodlkw | EN 1.4301 (AISI 304) EN 1.4401 (AIS| 316) Ex6x25 UNI 6604 1
15 kW and above 8x7x30
Up to 11kW M16x1.5 UNI 7474
034 |Impeller nut 50-200/15 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) M18x1.5 1
15 kW and above M20x1.5
044 |Protection EN 1.4301 (AISI 304) EBARA DRAWING 1
072 |Casingring [2] EN 1.4301 (AISI 304) ‘ EN 1.4404 (AISI 316L) 1
073 |Casing ring (not for 65 version) EN 1.4301 (AISI 304) \ EN 1.4404 (AISI 316L) 1
32-125, 40-125 M 8x30 UNI 5739 8
40-160, 40-200,
200 |Screw ggigg 2(5)122 Stainless steel A2 70 class ISO 3506/1 M 10x35 UNI 5739 3]
65-160, 65-200
244 |Pin [4] / [ EN 1.4301 (AISI 304) 4x15 1

Counterflange kit on request, see table p.319-320

[1] Only for 65-125/5.5 and 65-125/7.5

[2] For version 32-200, 40-200, 50-160, 50-200

[3] N° for 1 unit=10 for 32-160, 40-160, 50-125, 65-125
N° for 1 unit=12 for 32-200, 40-200, 50-160, 50-200, 65-160, 65-200

[4] Only for 65-160/15 and 65-200

301

= Eaara

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series F version

CONSTRUCTIONS BLSF 80'160 50 Hz

75 24 77

Rev. G

6

235 200 244
200A

78

25 76

302

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series F version

CONSTRUCTIONS 3 L S F 80' 160

50 Hz

N° PART NAME MATERIAL DIMENSIONS STANDARD N. FOR
1 UNIT
001 |Casing EN 1.4401 (AISI 316) 1
003 Motor bracket Cast iron EN-GJL-200-EN 1561 1
004 Casing cover EN 1.4404 (AISI 316L) 1
006 Coupling EN 1.4404 (AISI 316L) See table p. 318 1
007 Impeller EN 1.4401 (AISI 316) 1
SiC/SiC/IFPM
011 Mechanical seal Ceramic/Carbon/FPM (H option) See p. 313-317 1
Sic/Carbon/EPDM (E option)
024 Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING 1
025 Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING 1
o~ FPM
026 0" ring EPDM (E option) 227.96x5.34 OR 6895 1
032 Key EN 1.4401 (AISI 316) 8x7x30 UNI 6604 1
034 Impeller nut EN 1.4404 (AISI 316L) M20x1.5 UNI 7474 1
044 Protection EN 1.4301 (AISI 304) EPE DRAWING 2
075 |Washer (plug) EN 1.4404 (AISI 316L) 1
076 Washer (plug) 1
077 O-ring (plug) FPM 1
078 O-ring (plug) EPDM (E option) 1
200 Screw Stainless steel A2-70 M 10x35 UNI 5739 10
200A |Screw class ISO 3506/1 M 10x30 2
235 Washer EN 1.4301(AISI 304) 10.5 UNI 8842 12
244 |Pin [1] EN 1.4301(AISI 304) 4x15 1

Counterflange kit on request see p.

[1] Not for H and E option

319-320

Rev. G

303

= Eaara

EBARA PUMPS EUROPE S.p.A.



3 series F version

CONSTRUCTIONS BLSF 65'250, 80

CENTRIFUGAL PUMPS

50 Hz

LL vC SL

9 ¥¥¢ 00¢ G¢¢ Vv

8L 9L GC

Ve ¢ L V¥ 9C v ¢ L ¥E |

304

EBARA PUMPS EUROPE S.p.A.

= Eaara



CENTRIFUGAL PUMPS 3 series F version
construcTions L SF 65-250, 80

50 Hz

Rev. G
N. FOR
N° PART NAME MATERIAL DIMENSIONS STANDARD
1 UNIT
001  [Casing EN 1.4401 (AISI 316) 1
003 Motor bracket Cast iron EN-GJL-200-EN 1561 1
003A |Adapter ring Cast iron EN-GJL-200-EN 1561 [1]
004 Casing cover EN 1.4401 (AISI 316) 1
004A |Screw for casing cover EN 1.4301(AISI 304) 2
65-250 d=24 mm EN 1.4462 (Duplex stainless steel)
006 Coupling 80-200 d=24 mm EN 1.4404 (AISI 316L) for 22 kw 1
EN 1.4462 (Duplex stainless steel) for 30-37 kW
80-250 d=29 mm EN 1.4462 (Duplex stainless steel)
007 Impeller EN 1.4401 (AISI 316) 1
SIiC/SiC/IFPM
011 Mechanical seal Ceramic/Carbon/FPM (H option) See p. 313-317 1
Sic/Carbon/EPDM (E option)
024 Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING 1
025 Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING 1
"O" FPM
026 0" ring EPDM (E version) 253.36x5.34 OR 6995 1
65-250 1
032 |Key go-200| ~ 4724mm EN 1.4401 (AISI 316) 8x7x30 UNI 6604 1
80-250 d=29 mm 8x7x40 1
. 65-250 1
034 ';Efe"er 80-200 d=24 mm EN 1.4404 (AISI 316L) M20x1.5 UNI 7474 1
80-250 d=29 mm M24x2 1
042A |Foot for pump Aluminium/zincked steel (only for 80-250/55) [2]
075 |Washer (plug) EN 1.4404 (AISI 316L) L
076 Washer (plug)
077 O-ring (plug) FPM 1
078 O-ring (plug) EPDM (E version) 1
200 Screw Stainless steel A2-70 class 1SO 3506/1 M 12x45 UNI 5739 10
235 Washer EN 1.4301(AISI 304) 13 UNI 8842 10
244  |Pin [3] EN 1.4301(AISI 304) 4x12 1

Counterflange kit on request, see table p. 319-320

[1] Only for 65-250/37 , 80-200/37 , 80-250/37 — 80-250/45 and 80-250/55
[2] N° for 1 unit=2 for 80-200/30 , 80-200/37 , 80-250/45

for 1 unit=1 for 80-250/55
[3] Not for H and E version.

305

= Eaara

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series F version
CONSTRUCTIONS 3()PF 32, 40, 50, 65 5ok

Rev. G

1 4 26 92 66 89 19 6 20
S f | )
\“ ,i Hl
T et
73 ] | g
[ - | )
32 | ﬂi}ﬁ
P I D S _—— EE) e | | - -
S4 | H‘L/J
Wi
=8
7 i
TN ?- NS 2
25 3 200 72 11 244 42 87 93 33

306

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series F version

CONSTRUCTIONS 3()PF 32, 40, 50, 65 sow

Rev. G
N° PART NAME MATERIAL DIMENSIONS STANDARD N. FOR
1 UNIT
3P 3LP
001 |Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
003 |Support Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
006 |Shaft - Part in contact with liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
007 |impeller 32,40,50 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
65-125/160/200 EN 1.4401 (AISI 316)
Carbon/Ceramic/NBR
011 |Mechanical seal Carbon/Ceramic/FPM (H option) SiC/SiC/FPM See p. 313-317 1
SiC/SiC/FPM (HS option)
019 |Bearing - See table p. 312 1
020 |Bearing - See table p. 312 1
025 |Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8" L=8 DIN 906 1
32-125, 40-125 158.11x5.34 OR 6625
026 0" ing Zg:igg' 40-160, 50-125, NBR o 183.52x5.34 OR 6720 N
32-200, 40-200, 50-160, FPM (H - HS option)
50-200, 65-160. 65-200 227.96x5.34 OR 6895
032 |Key Up to 11 kW EN 1.4301 (AISI 304) EN 1.4401 (AIS 316) Ex6x25 UNI 6604 1
15 kW and above 8x7x30
033 |Key C 40 8x7x40 UNI 6604 1
Up to 11kW M16x1.5
034 |Impeller nut 50-200/15 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) M18x1.5 UNI 7474 1
15 kW and above M20x1.5
042 |Pump support Fe 37 Zinc-coated EBARA DRAWING 1
066 |Impeller side bearing cover Cast iron EN-GJL-200-EN 1561 1
067 |Motor side bearing cover Cast iron EN-GJL-200-EN 1561 1
072 |Casing ring [1] EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
073 |Casing ring (not for 65 version) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
089 |Snap ring Carbon tool steels TC 80 @ 40 UNI 7435 1
092 |"V"ring - VS - 0030 1
093 |"V"ring - VS - 0030 1
32-125, 40-125 M 8x30 UNI 5739 8
200 |Screw 40-160, 40-200, 50-125, Stainless steel A2 70 class 1SO 3506/1
50-160, 50-200, 65-125, M 10x35 UNI 5739 [2]
65-160, 65-200
244 |Pin [3] - [ EN 1.4301 (AIS| 304) 4x15 1

Counterflange kit on request see p. 319-320

[1] For version 32-200, 40-200, 50-160, 50-200
[2] N° for 1 unit=10 for 32-160, 40-160, 50-125, 65-125

N° for 1 unit=12 for 32-200, 40-200, 50-160, 50-200, 65-160, 65-200
[3] Only for 65-160/15 and 65-200

307

E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series F version

CONSTRUCTIONS 3 L P F 80' 160 50 Hz

75 24 77

Rev. G

42

3 6 20 67 93

1 244

200
200A

66 92 89 19

235

NNNNNN

308

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series F version

CONSTRUCTIONS 3 L P F 80' 160

50 Hz

Rev. G

N° PART NAME MATERIAL DIMENSIONS STANDARD N. FOR
1 UNIT
001 Casing EN 1.4401 (AISI316) 1
003 Support Cast iron EN-GJL-200-EN 1561 1
004 Casing cover EN 1.4404 (AISI316L) 1
006 Shaft EN 1.4404 (AISI316L)-Part in contact with liquid 1
007 Impeller EN 1.4401 (AISI316) 1
SiC/SiC/IFPM
011 Mechanical seal Ceramic/Carbon/FPM (H option) See p. 313-317 1
Sic/Carbon/EPDM (E option)
019 Bearing - See table p. 312 1
020 Bearing - See table p. 312 1
024 Plug EN 1.4404 (AISI316L) G3/8 EPE DRAWING 1
025 Plug EN 1.4404 (AISI316L) G3/8 EPE DRAWING 1
"O" i FPM
026 0" ring EPDM (E option) 227.96x5.34 OR 6895 1
032 Key EN 1.4401 (AISI 316) 8x7x30 UNI 6604 1
033 Key C40 8x7x40 1
034 Impeller nut EN 1.4404 (AISI 316L) M20x1.5 UNI 7474 1
042 Pump support Zincked steel EPE DRAWING 1
066 Impeller side bearing cover Cast iron EN-GJL-200-EN 1561 1
067 Motor side bearing cover Cast iron EN-GJL-200-EN 1561 1
075 |Washer (plug) EN 1.4404 (AISI 316L) 1
076 Washer (plug) 1
077 O-ring (plug) FPM 1
078 O-ring (plug) EPDM (E option) 1
089 Snap ring Carbon tool steels TC 80 @ 40 UNI 7435 1
092 "V r!ng - VS-0030 L
093 "V" ring n
200 _|Screw Stainless steel A2 70 class ISO 3506/1 M 10x35 UNI 5739 10
200A |Screw M 10x30 2
235 Washer EN 1.4301(AISI 304) 10.5 UNI 8842 12
244 |Pin [1] EN 1.4301(AISI 304) 4x15 1

Counterflange kit on request, see table p. 319-320

[1] Not for H and E option.

E2ARA

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 series F version
CONSTRUCTIONS BLPF 65-250, 80 50 Hz

Rev. G

42

6 20 67 93

92 66 89 19
200

m's 1 244 3 |

235

310

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series F version

CONSTRUCTIONS BLPF 65'250, 80

50 Hz

Rev. G
N. FOR
N° PART NAME MATERIAL DIMENSIONS STANDARD
1 UNIT
001 |Casing EN 1.4401 (AISI316) 1
003 Support Cast iron EN-GJL-200-EN 1561 1
004 Casing cover EN 1.4401 (AISI316) 1
004A |Screw for casing cover EN 1.4301 (AISI 304) 2
006 Shaft EN 1.4462 (Duplex stainless steel)-Part in contact with liquid 1
007 Impeller EN 1.4401 (AISI316) 1
SiC/SICIFPM
011 Mechanical seal Ceramic/Carbon/FPM (H option) See p. 313-317 1
Sic/Carbon/EPDM (E option)
019 Bearing - See table p. 312 1
020 Bearing - See table p. 312 1
024 Plug EN 1.4404 (AISI316L) G3/8 1
025 Plug EN 1.4404 (AISI316L) G3/8 1
- FPM

026 0" ring EPDM (€ version) 253.36x5.34 OR 6995 1
65-250 1

032 Key 80-200 d=24mm EN 1.4401 (AISI 316) 8x7x30 UNI 6604 1
80-250| d=29 mm 8x7x40 1

033 Key C 40 10x8x60 UNI 6604 1
. 65-250 1

034 'r:]fe"er go-200] 9724mMm EN 1.4404 (AISI 316L) M20x1.5 UNI 7474 1
80-250| d=29 mm M24x2 1

042 Pump support Zincked steel 1
066 Impeller side bearing cover Cast iron EN-GJL-200-EN 1561 1
067 Motor side bearing cover Cast iron EN-GJL-200-EN 1561 1
075 |Washer (plug) EN 1.4404 (AISI 316L) 1
076 Washer (plug) 1
077 O-ring (plug) FPM 1
078 O-ring (plug) EPDM (E version) 1
089 Snap ring Carbon tool steels TC 80 @ 50 UNI 7435 1
092 |'Vring - VS-0040 1
093 "V" ring 1
200 Screw Stainless steel A2 70 class ISO 3506/1 M 12x45 UNI 5739 10
235 Washer EN 1.4301 (AISI 304) 13 UNI 8842 10
244 Pin [1] EN 1.4301 (AISI 304) 4x12 UNI 6873 1

Counterflange kit on request, see table p. 319-320

[1] Not for H and E option.

311

E2ARA

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS

3 series F version

CONSTRUCTIONS 3() PF

50 Hz

BALL BEARING

Type pumps
50 Hz

Ball bearing

Pump side

Motor side

32-125

32-160/R

32-160

6306-2RS1 C3

6206-2RS1 C3

32-200/R

32-200

32-200/L

6308-2RS1 C3

6306-2RS1 C3

40-125/R

40-125

40-160/R

40-160

6306-2RS1 C3

6206-2RS1 C3

40-200/R

40-200

40-200/L

6308-2RS1 C3

6306-2RS1 C3

50-125/S

50-125/R

50-125

6306-2RS1 C3

6206-2RS1 C3

50-160/R

50-160

50-200/R

50-200

50-200/L

6308-2RS1 C3

6306-2RS1 C3

65-125/R

65-125

65-125/L

6306-2RS1 C3

6206-2RS1 C3

65-160/S

65-160/R

65-160

65-160/L

65-200/R

65-200

65-200/L

6308-2RS1 C3

6306-2RS1 C3

65-250

65-250/L

6310-2RS1 C3

6308-2RS1 C3

80-160/S

80-160/R

80-160

80-160/L

6308-2RS1 C3

6306-2RS1 C3

80-200/R

80-200

80-200/L

80-250/R

80-250

80-250/L

6310-2RS1 C3

6308-2RS1 C3

Rev. G

312

= Eaara

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series F version

CONSTRUCTIONS

50 Hz

MECHANICAL SEAL STANDARD AND H VERSION

L1 L2

#d3
P
P
/

$d2

$d1
#d4
#d5

Rev. G

Manufacturer Reference Dimensions Material

Pump 1 2 3
Material type dl | d2 | d3|d4 | d5| L L1 | L2 |Stationary| Rotary

Description seal ring | seal ring | rubber

Version
Manuf. | Description

4
Frame
+ spring

32-125/160/200
40-125/160/200
50-125/160/200
65-125 22 | 19 | 38 | 31 | 37 [37.5|27.5| 10
Standard X6X62V6 | 65-160/7.5 Carbon | Ceramic NBR
65-160/9.2
65-160/11
65-160/15
65-200

30 | 24 | 46 | 39 | 45 [425|325| 10

EN 1.4401
(AISI 316)

32-125/160/200
Roten |UNITEN 3K 40-125/160/200
50-125/160/200
65-125 22 |19 | 38 | 31 | 37 |37.5|27.5| 10
65-160/7.5
65-160/9.2 .
H XYXY2VY 65-160/11 Carbon | Ceramic FPM
65-160/15
65-200

65-250

80-160/200
80-250 35| 29 | 50 | 44 | 50 [42.5|32.5| 10

30 | 24 | 46 | 39 | 45 [425|325| 10

EN 1.4401
(AISI 316)

313

% E2ARA EBARA PUMPS EUROPE S.p.A.



- _________________________|
CENTRIFUGAL PUMPS

3 series F version

CONSTRUCTIONS 50 Hz
Rev. G
MECHANICAL SEAL L VERSION @22
4 3
)OO
N ~
o~ | N
og Nz N
375
Manufacturer Reference Material
1 2 3 4
Pump
Manuf. Description 'V'ate_”"?" type Stationary| Rotary Frame
Description . . .
seal ring | seal ring | rubber + spring
32-125/160/200
40-125/160/200
50-125/160/200 EN 1.4571
Burgmann| M377GN85/22-00-R | Q1Q1VGG | 65-125 SiC SiC FPM (AIS] élGTi)
65-160/7.5
65-160/9.2
65-160/11
314

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series F version

CONSTRUCTIONS 50 Hz

Rev. G

MECHANICAL SEAL L VERSION

L1 L2

.

N
e =
©
1St
- 4 5 2 1 4 0
s o H- —_ =L 4 ¥
© ©
St ‘ =
o d NZ ]
U
I
Manufacturer Reference Pump Dimensions Material
type
1 2 3 4
- Material dl|d2|d3|d4 | d5 | L | L1 | L2 |Stationary| Rotary Frame
Manuf. Description - . - -
Description sealring | sealring | rubber | + spring
65-160/15
05200 | 30| 24 | 44 | 39 | 45 |425| 31 |115 EN 1.4571
Burgmann | M377GN85-R| Q1Q1VGG | 65-250 ’ ’ SiC SiC FPM (AlSIélGTi)
80-160/200
80-250 35|29 | 49 | 44 | 50 |425 31 |115

% E2ARA EBARA PUMPS EUROPE S.p.A.



- _________________________|
CENTRIFUGAL PUMPS

3 series F version

CONSTRUCTIONS 50 Hz
Rev. G
MECHANICAL SEAL HS VERSION @22
XKL | “
“‘ 0 0 ST
A
N ™~
N - - - )
= ASS
!
B 28.5 9
| 37.5 o
Manufacturer Reference Material
Pump 1 2 3 4
Manuf. Description Matgnql type Stat|onary Rota.ry Frame
Description seal ring | seal ring | rubber + spring
32-125/160/200
40-125/160/200
50-125/160/200 ' ' EN 1.4571
Burgmann| MG1S6/22-G3 | Q1Q1VGG | 65-125 SiC SiC FPM (AISI 316Ti)
65-160/7.5
65-160/9.2
65-160/11
316

EBARA PUMPS EUROPE S.p.A.



3 series F version

CENTRIFUGAL PUMPS

CONSTRUCTIONS

50 Hz

Rev. G
L1 L2
) ) %
m J//k /
e
S
- \ 43 2 3 o
N - - - - - <
S S S S
S =
SecSlele, EN
U U
L7
Manufacturer Reference Dimensions Material
Version Ptunlp 1 2 3 4
- Material P dl|d2|d3|d4 | d5| L | L1 | L2 |Stationary| Rotary Frame
Manuf. Description - . . ]
Description seal ring | sealring | rubber + spring
65-160/15 . . EN 1.4571
HS M377GNX/30-00-R | Q1Q1VGG 65-200 30 | 24 | 44 | 39 | 45 |425| 31 |115 SiC SiC FPM (AISI 316Ti)
Burgmann 65-250
E M377GNX/35-00-R| Q1BEGG [80-160/200 80 | 24 ) 44| 39 | 45 1425] 31 1115 Carbon SiC EPDM (i:\lS|1341567'|'1|)
80-250 35|29 | 49 | 44 | 50 |42.5| 31 |115

= Eaara

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series F version

CONSTRUCTIONS 3 ( . ) S F

50 Hz
Rev. G
COUPLING
L
— Set screw UNI EN ISO 4029 \
_ o o } I m LJ
‘ L
< S — Cé +——HH———— o=
Motor Dimensions mm
Typepumps | kW | HP | T g | a1 | g2 | a3 M L | 1] b h | Setscrew
32-125/1.1 1.1 1.5 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
32-160/1.5 1.5 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
32-160/2.2 2.2 3 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
32-200/3.0 3 4 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
32-200/4.0 4 55 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
32-200/5.5 5.5 7.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
32-200/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
40-125/1.5 1.5 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
40-125/2.2 2.2 3 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
40-160/3.0 3 4 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
40-160/4.0 4 5.5 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
40-200/5.5 5.5 7.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
40-200/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
40-200/11 11 15 160 19 22 42 63 M16x1.5 178 | 114 12 45.3 M8x8
50-125/2.2 2.2 3 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
50-125/3.0 3 4 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
50-125/4.0 4 55 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
50-160/5.5 5.5 7.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
50-160/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
50-200/9.2 9.2 12.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
50-200/11 11 15 160 19 22 42 63 M16x1.5 178 | 114 12 45.3 M8x8
50-200/15 15 20 160 22 22 42 63 M18x1.5 209 | 114 12 45.3 M8x8
65-125/4.0 4 55 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
65-125/5.5 55 7.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
65-125/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
65-160/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
65-160/9.2 9.2 12.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
65-160/11 11 15 160 19 22 42 63 M16x1.5 178 | 114 12 45.3 M8x8
65-160/15 15 20 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
65-200/15 15 20 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
65-200/18.5 18.5 25 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
65-200/22 22 30 180 24 30 48 72 M20x1.5 184 | 114 14 51.8 M10x10
65-250/30 30 40 200 24 30 55 85 M20x1.5 184 | 114 16 59.3 M12x12
65-250/37 37 50 200 24 30 55 85 M20x1.5 184 | 114 16 59.3 M12x12
80-160/11 11 15 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
80-160/15R 15 20 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
80-160/15 15 20 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
80-160/18.5 18.5 25 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
80-200/22 22 30 180 24 30 48 72 M20x1.5 184 | 114 14 51.8 M10x10
80-200/30 30 40 200 24 30 55 85 M20x1.5 184 | 114 16 59.3 M12x12
80-200/37 37 50 200 24 30 55 85 M20x1.5 184 | 114 16 59.3 M12x12
80-250/37 37 50 200 29 35 55 85 M24x2 206 | 114 16 59.3 M12x12
80-250/45 45 60 225 29 35 55 85 M24x2 206 | 114 16 59.3 M12x12
80-250/55 55 75 250 29 35 60 89 M24x2 218 | 144 18 64.4 M12x12
318

= Eaara

EBARA PUMPS EUROPE S.p.A.



- _________________________|
CENTRIFUGAL PUMPS

3 series F version

CONSTRUCTIONS 50 Hz
Rev. G
COUNTERFLANGE ZINCKED STEEL
F
| E
| — |
| I| ‘i |\_ﬂ|_I | ]
| | |
T ‘ T
i y
L
SN N° Holes 218
Counterflange Screw
DN| D E| F| H|HL|] L | M | SN |DIMENSIONS| MATERIAL
32 |G11/4 100 | 100 | 15 | 115 67 | 50 | 4
40 |G11/2| 110 | 110 | 175|115 72 | 58 | 4
50| G2 | 125 | 125 | 19 | 15 | 89 | 70 | 4 M16x55 sZtPénStf?teélifs
65|G21/2| 145 | 185 | 23 | 14 | 104 | 88 | 4 o 808.1
80| G3 | 160 | 200 | 24 | 16 1175 100 | 8 V16460
100| G4 | 180 | 220 | 29 | 16 | 144 | 125 | 8
COUNTERFLANGE EN 1.4404 (AISI 316L)
£
D
SN N° Holes 18 | ‘
\ !
- L)
g‘ !
I L |
F
Counterflange Screw
DN| D | E| F | H | HL| L | M | SN |DIMENSIONS| MATERIAL
32 |G 11/4] 100 | 140 | 295 | 14 | 66 | 44
40 |G11/2] 110 | 150 | 295 | 14 | 71 | 505
50 G2 125 | 165 34 | 16 | 83 | 63 | | M3 IASZJ;JSC(')Z?;
65|G21/2| 145 | 185 | 40 | 16 | 103 | 80
80| G3 | 160 | 200 | 42 | 18 | 122 | 92 | 8 M16x60

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 series F version
CONSTRUCTIONS 50 Hz

COUNTERFLANGE EN 1.4404 (AISI 316L) DN100

‘ E
SN N° Holes 218 D
|
NI |
= | =
] |
' T
Nr L
F
Counterflange Screw

DN D E F H H1 L SN [DIMENSIONS | MATERIAL

A2-70 class

100 | G4 | 180 | 220 | 35 20 | 150 8 M16x70 ISO 3506-1

GASKET

DN M M1
32 38 82
40 50 93
50 60 107
. 65 80 125
Thickness 2 80 90 140

100 115 160

Material : EPDM for standard version
FPM for L version

320

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series F version

DIMENSIONS 3()S|: 32,40,50 50 Hz

Rev. G
D2
P2
A
N DN2
" ‘ ‘
\ , ) B 4—-M10
= | :_/ N
. d | B, - T
"=y :'
y |
e UUUHH: % g 8 L
~ — = N | _%D_U__ | — —
o o 5 0000 [ N
— 0000041 sl v
- |
_t )
. SR
1
Fig. 1 | , , i
R ‘ C |‘ 15
T Il
29 70 |
1
16 M i N2
éar:
|
:
K o 2
e —F+ < ©
. &
Fig. 2 -
N
25 70
' ' 2—-910
114
Pump type | Fig. Dimensions [mm)] Weight
DN1| Pl |K1|D1|DN2|P2|K2|D2|S2| H|HL|H2|M|NL|N2| R | A | B | c| I[kofl
3212511 | 1 | 50 | 95 |125]165] 32 | 75 [ 100|140 | 14 | 252|112 ] 140] 114 | 140 ] 190] 80 |213]118] 174 13.1
32-160/1.5 | 1 | 50 | 95 | 125]165| 32 | 75 | 100]140] 14 |292]132] 160|118 | 190|240 80 | 254 ] 130|186 17
32-160/22 | 1 | 50 | 95 |125] 165 32 | 75 |100|140] 14 |292|132] 160|118 | 190|240 80 | 254 ] 130|186 17
40-125/15 | 1 | 65 |115]|145|185| 40 | 80 | 110 150| 14 | 252 | 112 | 140 | 114 | 160 | 210 | 80 | 213|130 | 186| 14.4
40-125/2.2 | 1 | 65 |115|145|185| 40 | 80 | 110|150] 14 | 252 | 112] 140|114 | 160|210 80 | 213|130 | 186| 145
50-125/2.2 | 2 | 65 | 115 145 185| 50 | 95 | 125|165 16 | 292 | 132 | 160| - | 190|240 | 100 | 254 | 130 | 186| 20
400

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series F version
DIMENSIONS 3()S|: 32,40,50,65 50 Hz

Rev. G

D2
P2

DN2 A

S2

-

D1
P1
 DN1,

DN2

) Dimensions [mm] Weight
Pump type | Fig. z [kgf]
DN1 | P1 | K1 | D1 | S1 |[1]|[2]|DN2| P2 | K2 |D2|S2| H|Hl|H2| M |N1|N2| R W | A B C D E F G

32-200/3 1 50 95 [125|165| 16 | 4 | - 32 75 | 100|140 | 14 | 340 | 160|180 | 119 | 190 | 240 | 80 | 70 | 296 | 222 | 142 | 180 | 215 | 250 | M12 24
32-200/4 1 50 95 |125|165| 16 | 4 | - 32 75 | 100 | 140 | 14 | 340|160 | 180|119 | 190|240 | 80 | 70 | 296 | 222 | 142 | 180 | 215 | 250 | M12 24
32-200/5.5 1 50 95 | 125|165| 16 | 4 | - 32 75 | 100 | 140 | 14 | 340|160 | 180 | 119 | 190 | 240 | 80 | 70 | 296 | 245 | 165 | 230 | 265 | 300 | M12 28
32-200/7.5 1 50 95 |125|165| 16 | 4 | - 32 75 | 100|140 | 14 | 340 | 160|180 | 119 | 190 | 240 | 80 | 70 | 296 | 245 | 165 | 230 | 265 | 300 | M12 28
40-160/3 1 65 [115|145|185| 16 | 4 | - 40 80 | 110 | 150 | 14 | 292 | 132|160 | 118 | 190 | 240 | 80 | 70 | 254 | 222 | 142|180 | 215 | 250 | M12| 19.5
40-160/4 1 65 [115|145|185| 16 | 4 | - 40 80 | 110 | 150 | 14 | 292|132 | 160 | 118 | 190 | 240 | 80 | 70 | 254 | 222 | 142 | 180 | 215 | 250 | M12 20
40-200/5.5 2 65 [115|145|185| 16 | 4 | - 40 80 | 110 | 150 | 14 | 340|160 | 180 | 115|212 | 265 | 100 | 70 | 296 | 265 | 165 | 230 | 265 | 300 | M12 28
40-200/7.5 2 65 |[115|145(185| 16 | 4 | - 40 80 | 110 | 150 | 14 | 340 | 160 | 180 | 115| 212 | 265 | 100 | 70 | 296 | 265 | 165 | 230 | 265 | 300 | M12 28
40-200/11 2 65 [115|145|185| 16 | 4 | - 40 80 | 110 | 150 | 14 | 340|160 | 180 | 115|212 | 265| 100 | 70 | 296 | 298 | 198 | 250 | 300 | 350 | M16| 41.5
50-125/3 2 65 [115|145|185| 16 | 4 | - 50 95 | 125|165| 16 | 292|132 | 160 | 114 | 190 | 240 | 100 | 70 | 254 | 242 | 142 | 180 | 215 | 250 | M12 20
50-125/4 2 65 [115|145(185| 16 | 4 | - 50 95 | 125|165| 16 | 292|132 | 160 | 114 | 190 | 240 | 100 | 70 | 254 | 242 | 142 | 180 | 215 | 250 | M12 20
50-160/5.5 2 65 [115|145|185| 16 | 4 | - 50 95 | 125|165| 16 | 340 | 160 | 180 | 115 | 212 | 265 | 100 | 70 | 296 | 265 | 165 | 230 | 265 | 300 | M12| 28.5
50-160/7.5 2 65 |115|145|185| 16 | 4 | - 50 95 | 125 |165| 16 | 340 | 160 | 180 | 115 | 212 | 265 | 100 | 70 | 296 | 265 | 165 | 230 | 265 | 300 | M12| 28.5
50-200/9.2 2 65 |[115|145(185| 16 | 4 | - 50 95 | 125|165| 16 | 360 | 160 | 200 | 115 | 212 | 265 | 100 | 70 | 296 | 265 | 165 | 230 | 265 | 300 | M12 29
50-200/11 2 65 |115|145|185| 16 | 4 | - 50 95 | 125|165| 16 | 360 | 160 | 200 | 115 | 212 | 265 | 100 | 70 | 296 | 298 | 198 | 250 | 300 | 350 | M16| 41.5
50-200/15 2 65 [115|145|185| 16 | 4 | - 50 95 | 125|165| 16 | 360 | 160 | 200 | 115 | 212 | 265 | 100 | 70 | 296 | 298 | 198 | 250 | 300 | 350 | M16| 42.5
65-125/4 2 80 |134|160|200| 18 | 8 | 4 65 |115| 145|185 | 16 | 340 | 160 | 180 | 140 | 212 | 280 | 100 | 95 | 254 | 242 | 142 | 180 | 215 | 250 | M12 26
65-125/5.5 2 80 |134|160|200| 18 | 8 | 4 | 65 |115|145)|185| 16 | 340 | 160 | 180 | 140 | 212 | 280 | 100 | 95 | 254 | 265 | 165 | 230 | 265 | 300 |M12| 27.5
65-125/7.5 2 80 [134|160|200| 18 | 8 | 4 65 |115|145|185| 16 | 340 | 160 | 180 | 140 | 212 | 280 | 100 | 95 | 254 | 265 | 165 | 230 | 265 | 300 | M12| 28.5
65-160/7.5 2 80 |134|160|200| 18 | 8 | 4 65 |115|145|185| 16 | 360 | 160 | 200 | 140 | 212 | 280 | 100 | 95 | 296 | 265 | 165 | 230 | 265 | 300 | M12 27
65-160/9.2 2 80 [134|160|200| 18 | 8 | 4 65 |115|145|185| 16 | 360 | 160 | 200 | 140 | 212 | 280 | 100 | 95 | 296 | 265 | 165 | 230 | 265 | 300 | M12 30
65-160/11 2 80 [134|160|200| 18 | 8 | 4 65 |115| 145|185 | 16 | 360 | 160 | 200 | 140 | 212 | 280 | 100 | 95 | 296 | 298 | 198 | 250 | 300 | 350 | M16 40
65-160/15 2 80 |[134|160|200| 18 | 8 | 4 65 |115|145|185| 16 | 360 | 160 | 200 | 140 | 212 | 280 | 100 | 95 | 296 | 308 | 208 | 250 | 300 | 350 | M16 42
65-200/15 2 80 [134|160|200| 18 | 8 | 4 65 |115|145|185| 16 | 405|180 | 225 | 140 | 250 | 320 | 100 | 95 | 296 | 308 | 208 | 250 | 300 | 350 | M16| 29.5
65-200/18.5 2 80 |134|160|200| 18 | 8 | 4 65 |115|145|185| 16 | 405|180 | 225 | 140 | 250 | 320 | 100 | 95 | 296 | 308 | 208 | 250 | 300 | 350 | M16| 29.5
65-200/22 2 80 |134|160|200| 18 | 8 | 4 | 65 |115|145)|185| 16 | 405|180 | 225 | 140 | 250 | 320 | 100 | 95 | 296 | 308 | 208 | 250 | 300 | 350 | M16| 30
[1] Standars [2] On request

401

E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series F version

DIMENSIONS 3()SF 65-250,80 50 Hz

Rev. G
D2
P2 A1 A2
DN2
N
(72]
G 8-918
St lﬁ - N
L]/
D= :
i _/ !
|
= .
o ol Z -—)-‘ - -B -tH- o] wl ow .
— |
| - |
';# | T
1 L
W 4-¢D3
I
M N1
R | C N2
B
Dimensions [mm] Weight

Pump type
DN1| P1| K1 |D1s1| DN2 | P2 |D2|s2| H|H1|H2|H3| R | W |NL|N2| M |MD3[B|Cc|D|E]|F G | A1| A2 [kl

65-250/30 80 | 135 160 | 200 | 22 | 65 Fig. 120|185 20| 450 | 200 | 250 | 15| 100 | 120 | 280 | 360 | 160 | 80 | 19 | 308 | 208 | 300 | 350 | 400 | 4 - M16 | 200 | 200 70
65-250/37 80 | 135|160 | 200 | 22 | 65 Fig. 120 | 185 | 20| 450 | 200 | 250 | 15 | 100 | 120 | 280 | 360 | 160 | 80 | 19 | 308 | 208 | 300 | 350 | 400 | 4 - M16 | 200 | 200 71
80-160/11 | 100 | 155 | 180 | 225 | 24 | 80 Fig. 135|200 | 22| 405|180|225|13|125| 95 | 250|320 | 125 | 65 | 15| 333 | 208 | 250 | 300 | 350 | 4-M16 | 175 | 175 52
80-160/15R | 100 | 155 | 180 | 225 | 24 | 80 Fig. 135|200 | 22| 405| 180 | 225 | 13 | 125 | 95 | 250 | 320 | 125 | 65| 15| 333 | 208 | 250 | 300 | 350 | 4 - M16 | 175 | 175 52
80-160/15 | 100 | 155 | 180 | 225 | 24 | 80 Fig. 135|200 | 22| 405|180 | 225|13|125| 95 | 250 | 320 | 125 | 65 | 15| 333 | 208 | 250 | 300 | 350 | 4-M16 | 175 | 175 52
80-160/18.5 | 100 | 155 | 180 | 225 | 24 | 80 Fig. 135|200 | 22| 405|180 | 225|13|125| 95 | 250 | 320 | 125 | 65 | 15| 333 | 208 | 250 | 300 | 350 | 4-M16 | 175 | 175 53
80-200/22 | 100 | 155 | 180 | 225 | 24 | 80 Fig. 135|200 | 22| 430|180 | 250 | 13| 125 | 95 | 280 | 345|125 | 65| 15| 333 | 208 | 250 | 300 | 350 | 4 - M16 | 175 | 182 68
80-200/30 | 100 | 155 | 180 | 225 | 24 | 80 Fig. 135|200 | 22| 430|180 |250| 13| 125| 95 | 280 | 345|125 | 65 | 15| 333 | 208 | 300 | 350 | 400 | 4 - M16 | 200 | 200 72
80-200/37 | 100 | 155 | 180 | 225 | 24 | 80 Fig. 135|200 | 22| 430|180 | 250 | 13 | 125 | 95 | 280 | 345 | 125 | 65| 15| 333 | 208 | 300 | 350 | 400 | 4 - M16 | 200 | 200 73
80-250/37 | 100 | 155 | 180 | 225 | 24 | 80 Fig. 135|200 | 22| 480 | 200|280 | 15| 125 | 120 | 315 | 400 | 160 | 80 | 19 | 361 | 236 | 300 | 350 | 400 | 4 - M16 | 200 | 200 83
80-250/45 | 100 | 155 | 180 | 225 | 24 | 80 Fig. 135|200 | 22| 480 | 200 | 280 | 15| 125 | 120 | 315 | 400 | 160 | 80 | 19 | 361 | 236 | 350 | 400 | 450 | 8 - M16 | 225 | 225 88
80-250/55 | 100 | 155 | 180 | 225 | 24 | 80 Fig. 135|200 | 22| 480 | 200|280 | 15| 125 | 120 | 315 | 400 | 160 | 80 | 19 | 373 | 248 | 450 | 500 | 550 | 8 - M16 | 275 | 275 100

NININNNINNNNIN PP

402

E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series F version
DIMENSIONS 3()PF 32,40,50,65 50 Hz

Rev. G

B 100 *
D2
P2
N DN2 _EF A
Sl
Il
L0 ! J
T
! 50
y = - <
B o~
- | | -
5| & 2 A | —— =
e
Fig. 1
R | 260 100
29 W 16
st |l ™ 45
<
Fig. 2
g 11 os
25
. Dimensions [mm] Weight
Pump type | Fig. VA ko]
DN1| P1 | K1 | D1 | S1|[1]|[2]|DN2| P2 | K2 |D2|S2| H |H1|H2| M |N1|N2| R w A B g
32-125 1 50 | 95 | 125|165| 16 | 4 | - 32 | 75 |100|140| 14 | 252|112 | 140|114 | 140 |190| 80 | 70 | 213|440 17
32-160 1 50 | 95 | 125|165| 16 | 4 | - 32 | 75 |100|140| 14 |292| 132|160 | 118|190 |240| 80 | 70 | 254 | 440 19
32-200 1 50 | 95 | 125|165| 16 | 4 | - 32 | 75 |100|140| 14 | 340|160 | 180 | 119|190 | 240| 80 | 70 | 296 | 440 27
40-125 1 65 |115|145|185| 16 | 4 | - 40 | 80 | 110|150| 14 | 252|112 |140| 114|160 |210| 80 | 70 | 213|440 17
40-160 1 65 |115|145|185| 16 | 4 | - 40 | 80 | 110|150| 14 |292| 132|160 | 118|190 |240| 80 | 70 | 254 | 440 19
40-200 2 65 |115|145|185| 16 | 4 | - 40 | 80 | 110|150 | 14 | 340 160 | 180 | 115| 212 | 265 | 100 | 70 | 296 | 460 27
50-125 2 65 |115|145|185| 16 | 4 | - 50 | 95 | 125|165| 16 |292| 132|160 | 114 | 190 | 240 | 100 | 70 | 254 | 460 19
50-160 2 65 |115|145|185| 16 | 4 | - 50 | 95 | 125|165| 16 |340| 160 | 180 | 115|212 | 265| 100 | 70 | 296 | 460 28
50-200 2 65 |115|145|185| 16 | 4 | - 50 | 95 | 125|165| 16 | 360 | 160 | 200 | 115| 212 | 265 | 100 | 70 | 296 | 460 27
65-125 2 80 |134|160|200| 18 | 8 | 4 | 65 |115|145|185| 16 | 340 | 160 | 180 | 140 | 212 | 280 | 100 | 95 | 254 | 460 28
65-160 2 80 |134|160|200| 18 | 8 | 4 | 65 |115|145|185| 16 | 360 | 160 | 200 | 140 | 212 | 280 | 100 | 95 | 296 | 460 29
65-200 2 80 |134|160|200| 18 | 8 | 4 | 65 |115|145|185| 16 | 405|180 | 225 | 140 | 250 | 320 | 100 | 95 | 296 | 460 30
[1] Standars [2] On request

* Space for disassembly.

403

% E2ARA EBARA PUMPS EUROPE S.p.A.



3 series F version

DIMENSIONS 3()PF 65-250,80

CENTRIFUGAL PUMPS

50 Hz

Rev. G

88 Ov€ | G6G | 26T | GLT | GE |OT | 6T | 2€ |08 | OET |08 | 09T | 00¥ | GTE | 02T | G2T | GT | 082 | 002 | 08¥ | 22 | 002 | SET | ¢ *Bi4 08 | ¥Z | S22 | 08T | GST | 00T 0S¢2-08 M
€8 0¥E | G6G | 28T |S.T | G€ |OT |ST |2€ |08 |OST | S9 | S2T |SE | 082 | S6 | S2T | €T | 0SZ | 08T |0y | 22 | 002 | SET | 2 ‘B4 08 | ¥2 | S22 | 08T | GST | 00T 00¢-08 <t
09 092 | S8V | €LT | L¥T | LZ | 8 | ST |¥2 | 0S| 00T |S9 | S2T | 0ZE |0GC | G6 |SeT | €T |S¢e | 08T | SO¥ | 22 | 002 | SET | ¢ B4 08 | ¥¢ | S¢g | 08T | GST | 00T 09T-08
8 Ov€ | 0.G | 28T | GLT | GE |OT | 6T |2€ |08 | OET |08 | 09T | 09E | 08 | 0CT | 00T | ST | 0SC | 00Z | 0S¥ | 0C | S8T | 02T | T B4 G9 | ¢Z | 002 | 09T | GET | 08 0S2-99
[16%] o] da | ¢V | TV | J|ea|a |Tti1| 1 |[TW| N |ZN | IN | M d |€H| ¢H | TH H (¢S |¢d | cd ¢Nd TS| TA | TM | Td |INA adfy
61aMm [wuw] suoisuawiqg duwnd
> |= _
S |o
¢N 1
IN
¢ae—v
= g
S e 2
g
| b >
a o]
= 3 | =
N 11 b
[72]
©
8l9—8 §%2)
o
[ — S
—1 5
[t
@
Q
(58]
o
(2]
A v % 0Cl X

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series F version

PACKING AND WEIGHT 3()SF 50 Hz
Rev. G
Type PACKING [mm] PACK
WEIGHT [K
pumps X % Z G [Kal TYPE
32-125/1.1 16
32-160/1.5 19
32-160/2.2
32-200/3
32-200/4 27
32-200/5.5 30
32-200/7.5 | 374 | 424 | 405
40-125/1.5 17 TYPE 1
40-125/2.2
40-160/3
40-160/4 23
40-200/5.5
40-200/7.5 305
40-200/11 | 860 | 375 | 440 44.5 -
50-125/2.2
50-125/3 22.5 1
50-125/4
£0-160/55 374 | 424 | 405 e ' N
50-160/7.5 :
50-200/9.2 32 X
50-200/11 45
50-200/15 860 | 375 | 440 46
65-125/4 29 TYPE 2
65-125/5.5 30.5
65-125/7.5 | 374 | 424 | 405 315
65-160/7.5 30
65-160/9.2 33
65-160/11 44
65-160/15 46
65-200/15 | 860 | 375 | 440 37 ~
65-200/18.5 33.5
65-200/22 34
65-250/30 75
6525037 | (20 | 475 | 608 76 J t
80-160/11 58 7‘ ‘ SN
80-160/15R 58 X
80-160/15 580 | 390 | 533 cs | ‘
80-160/18.5 58 5
80-200/22 75
80-200/30 80
80-200/37 780 | 4751 610 81
80-250/37 90
80-250/45 95
80-250/55 894 | 762 | 690 108
405

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series F version

PACKING AND WEIGHT 3() P F

50 Hz

Type
pumps

PACKING [mm]

X

Y

Z

WEIGHT [Kg]

PACK
TYPE

32-125

32-160/R

32-160

490

280

340

18

20

32-200/R

32-200

32-200/L

500

330

390

28.5

40-125/R

40-125

40-160/R

40-160

490

280

340

18

20

40-200/R

40-200

40-200/L

500

330

390

28.5

50-125/S

50-125/R

50-125

490

280

340

20

50-160/R

50-160

50-200/R

50-200

50-200/L

65-125/R

65-125

65-125/L

65-160/S

65-160/R

65-160

65-160/L

500

330

390

29

29.5

29

30.5

65-200/R

65-200

65-200/L

580

390

533

32

65-250

65-250/L

780

475

608

86

80-160/S

80-160/R

80-160

80-160/L

580

390

533

64

80-200/R

80-200

80-200/L

80-250/R

80-250

80-250/L

780

475

610

87

93

Rev. G

TYPE 1

TYPE 2

406

= Eaara

EBARA PUMPS EUROPE S.p.A.



	3 Series F version
	Contents
	Contents

	Specifications
	Pump Specifications
	Pump Specifications
	Selection chart
	Selection chart
	Selection chart
	Perf. chart
	Perf. chart 32-125
	Perf. chart 32-160
	Perf. chart 32-200
	Perf. chart 40-125
	Perf chart 40-160
	Perf. chart 40-200
	Perf. chart 50-125
	Perf. chart 50-160
	Perf. chart 50-200
	Perf. chart 65-125
	Perf. chart 65-160
	Perf. chart 65-200
	Perf. chart 65-250
	Perf. chart 80-160
	Perf. chart 80-200
	Perf. chart 80-250


	Constructions
	Sectional view 3(.)SF 32, 40, 50, 65-125/160/200
	Constructions 3(.)SF 32, 40, 50, 65-125/160/200
	Sectional view 3LSF 80-160
	Constructions 3LSF 80-160
	Sectional view 3LSF 65-250, 80-200/250
	Constructions 3LSF 65-250, 80-200/250
	Sectional view 3(.)PF 32, 40, 50, 65-125/160/200
	Constructions 3(.)PF 32, 40, 50, 65-125/160/200
	Sectional view 3LPF 80-160
	Constructions 3LPF 80-160
	Sectional view 3LPF 65-250, 80-200/250
	Constructions 3LPF 65-2250, 80-200/250
	Ball bearing
	Mechanical seal standard and H version
	Mechanical seal L version ø22
	Mechanical seal L version
	Mechanical seal HS version ø22
	Mechanical seal HS and E version
	Coupling
	Fittings
	Fittings

	Dimensions
	Dimensions 3(.)SF 32, 40, 50
	Dimensions 3(.)SF 32, 40, 50, 65
	Dimensions 3(.)SF 65-250, 80
	Dimensions 3(.)PF 32, 40, 50, 65
	Dimensions 3(.)PF 65-250, 80
	Packing and weight 3(.)SF
	Packing and weight 3(.)PF





